Workplace Math 11

Section 3.3 — Practice Problems

1. You are starting a business and need various sizes of rectangular boxes (including lids). If the
original box size is: length = 5in, width = 4in, height = 3in

a) What s the surface area of the original box?
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b) What happens to the surface area if we double the length and the width?
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c) How does the surface area change if the height and length are tripled?
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d) If each side was multiplied by a factor of 4, what is the new surface area?
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2. Using the dimensions from the previous question, what happens to the surface area of
the box if all sides are halved (divided by 2)?
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3. Jimis going to build a tree house in the shape of a triangular prism. It costs $35/m? of
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surface area. He is considering changing the depth from 5.0m to 7.0m.

a) What is the surface area of the original?
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b) What is the surface area of the larger plan?
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c) What is the difference in the Surface Areas?
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d) How much would it cost to increase the depth?

Swa ‘”\a.r-c oL 1%»*\:. d\\qﬂ&m& JL!L lflfng
e S.{hch wowlc;\ BC

e ’S ] ”QBQJ

4. If you were to double or halve the length (10cm) of the following image, how would by
how much would the Surface Area change with respect to the original?
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